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Question No : 1

Which parameter of an archive copy group sets a specific retention period that must be met
before a file qualifies for expiration?

A. retain last

B. retain extra

C. retain version
D. version deleted

Answer: B

Question No : 2

What is the first step to isolate the problem if multiple clients' backups failed?

A. Restart client nodes.

B. Check client error log files.

C. Check whether storage pools are available.

D. Query the Tivoli Storage Manager server activity log.

Answer: B,D

Question No : 3

A Windows client node has this directory structure:

Clproposals
Clproposals\dirt
Clproposalsidiriifile 1 txt
Clproposalsidiri\file2 tu
Clproposalsidir2
Clproposalsi\dir2\file3 txt
Ciproposals\dir2\filed ot
Clproposalsifiles txt
Clproposalsifiles txt

The command dsmc archive c:\proposals is turn on the client.
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How many objects are archived to the Tivoli Storage Manager server by default?

A. Nine: all directories and files.

B. Ten: all directories and files, plus the c:\directory.

C. Two: the directory c:\ and the directory c:\proposals.

D. Three: the directory c:\proposals and the files file5.txt and file6.txt.

Answer: C

Question No : 4

Why would an IBM Tivoli Storage Manager (TSM) trace be run?

A. To find a lost encryption key.

B. To filter messages from the active log.

C. To help troubleshoot at the request of Level 2 Support.

D. To check the data path between the TSM client and server.

Answer: D

Question No : 5

Which two steps should be taken to determine a Windows client performance problem?

A. Use auditlogging.

B. Review eventlog entries.

C. Set up a Tivoli Storage Manager server trace.

D. Check for high idle wait, comm wait, or media wait values.

E. Crosscheck the client options with recommendations from the Optimizing Performance
document.

Answer: B,C

Question No : 6

What happens if the same version of the file is selected for archive twice?
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A. The archive job will fail.

B. The file is archived twice.

C. The oldest version of the file will be overwritten.

D. The most recent version of the file will overwrite any previous versions.

Answer: B

Question No : 7

When installing the Backup-Archive client software, which additional component can be
installed by choosing the Custom installation?

A. the web client

B. the client API files

C. the administrative command line client
D. the Backup-Archive client command line

Answer: C

Question No : 8

After the initial configuration of IBM Tivoli Storage Manager Operations Center, which two
At Risk status settings can be changed?

A. time since last node replication

B. time since last copypool backup

C. time since last spoke replication

D. time since last application backup

E. time since last virtual machine backup

Answer: B,C

Question No : 9

The IT department is requesting a disaster test of the Tivoli Storage Manager (TSM)
server. The test is on a server set up without any graphical assistance. Which step is
required for a successful TSM database restore?
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A. Update the server option file.
B. Configure a DB2 API interface.
C. Replace the volume history file.
D. Generate a database backup copy.

Answer: D

Question No : 10

A customer is upgrading their environment from IBM Tivoli Storage Manager (TSM) V5.5 to
TSM V7.1. Which three new skills are required for the existing storage administrator with
system privileges?

A. defining DB2 volumes

B. defining database space

C. defining active data pools

D. managing recovery log volumes

E. managing a database reorganization

F. managing multiple stream database backups

Answer: A,D,F

Question No : 11

The IBM DB2 command runstats performs which function?

A. It reorganizes the IBM Tivoli Storage Manager (TSM) database.
B. It resets the TSM database table schema.

C. It updates statistics on tables and indexes.

D. It displays statistics on the database and indexes.

Answer: C
Reference: http://www.ibm.com/developerworks/data/library/techarticle/dm-0412pay/

Question No : 12
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